



Name: \_\_\_\_\_

Datum: \_\_\_\_\_ Ergebnis: \_\_\_\_\_

$$\left(\frac{1}{2}\right)^{(-2)} - \frac{2}{5} =$$

$$\left(-\frac{1}{3}\right)^{(-2)} + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{4}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^{(-1)} + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{2}{5}\right)^{(-2)} - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} + \frac{1}{5} =$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^2 + \frac{1}{5} =$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{6}\right)^{(-1)} - \frac{3}{5} =$$

$$\left(\frac{1}{4}\right)^{(-2)} + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right) + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right)^{(-1)} - \left(-\frac{1}{4}\right) =$$



Name: \_\_\_\_\_

Datum: \_\_\_\_\_ Ergebnis: \_\_\_\_\_

$$\left(\frac{1}{2}\right)^{(-2)} - \frac{2}{5} = \frac{18}{5} = 3\frac{3}{5}$$

$$\left(-\frac{1}{3}\right)^{(-2)} + \left(-\frac{3}{4}\right) = \frac{33}{4} = 8\frac{1}{4}$$

$$\left(\frac{3}{4}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{41}{18} = 2\frac{5}{18}$$

$$\left(-\frac{1}{6}\right)^{(-1)} + \frac{1}{2} = \left(-\frac{11}{2}\right) = \left(-5\frac{1}{2}\right)$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{3}\right) = \left(-\frac{5}{3}\right) = \left(-1\frac{2}{3}\right)$$

$$\left(\frac{2}{5}\right)^{(-2)} - \left(-\frac{1}{4}\right) = \frac{13}{2} = 6\frac{1}{2}$$

$$\left(\frac{1}{2}\right)^{(-1)} + \frac{1}{5} = \frac{11}{5} = 2\frac{1}{5}$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{2}{5}\right) = \frac{3}{5}$$

$$\left(-\frac{1}{2}\right)^2 + \frac{2}{5} = \frac{13}{20}$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{1}{2} = \frac{23}{4} = 5\frac{3}{4}$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{3}{4}\right) = \frac{1}{4}$$

$$\left(-\frac{1}{5}\right)^2 + \frac{1}{5} = \frac{6}{25}$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{4}\right) = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(\frac{1}{6}\right)^{(-1)} - \frac{3}{5} = \frac{27}{5} = 5\frac{2}{5}$$

$$\left(\frac{1}{4}\right)^{(-2)} + \frac{1}{2} = \frac{33}{2} = 16\frac{1}{2}$$

$$\left(\frac{1}{2}\right) + \frac{1}{6} = \frac{2}{3}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{2}{5}\right) = \frac{13}{20}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{6} = \frac{5}{12}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{1}{2}\right)$$

$$\left(\frac{1}{6}\right)^{(-1)} - \left(-\frac{1}{4}\right) = \frac{25}{4} = 6\frac{1}{4}$$